
11/25/13

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A 11/25/2013 KL

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF 
HORIZON SYSTEMS MACHINING. 
ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
HORIZON SYSTEMS MACHINING IS PROHIBITED.

 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 1 OF 5SCALE: 1:12

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/16
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    .01
THREE PLACE DECIMAL  .005

A

DO NOT SCALE DRAWING

HORIZON SYSTEMS MACHINING

9121 58TH PLACE
KENOSHA, WI 53144

PH: 262-605-1122
FAX: 262-605-1198

 Gantry Assembly

KL

PC-3000 A



REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

- - See Sheet1 - -

ITEM NO. PART NUMBER DESCRIPTION QTY.
100 PC-3001 Gantry Front Plate 1
101 PC-3002 Gantry Back Plate 1
102 PC-3003 Gantry End Block 2
103 PC-3004 Gantry Mid Block 4
104 PC-3005 Gantry Bottom 1
105 PC-3006 Gantry Rack 1
106 PC-3007 Gantry Rail Locating Pin 6
107 PC-3008 Bottom Gantry Tray Mount 3
108 PC-3009 Chainflex Tray 1
109 PC-3010 Gantry Rear Cover 1
110 PC-3011 Gantry Front Cover 1
111 PC-3012 Gantry Rear End Plate 1
112 PC-3013 Gantry Front End Plate 1
113 PC-3014 Head Plate - Front Side 1
114 PC-3015 Head Plate - Middle 1
115 PC-3016 Head Plate - Left Side 1
116 PC-3017 Head Plate - Right Side 1
117 PC-3018 Motor Mount 3
118 PC-3019 Gantry Head Spring Block 1
119 PC-3020 Gantry Head Cover 1
120 PC-3021 Gantry Head Connector Bracket 1
121 PC-3022 GANTRY CHAINFLEX MOUNTING BAR 1
122 PC-3023 Motor Mount Pivot Washer 3
123 PC-3024 Chainflex Mounting Bracket 1
124 PC-3025 Gantry Head Spring Block 2
125 PC-3026 Mounting Bracket 1
126 PC-3027 Y AXIS STOP BUSHING 2
127 PC-3028 Motor Gear 3
128 PC-3029 Gantry Top Cover 1
129 PC-3030 Torch Base 1
130 PC-3031 Torch Base Spacer 2
131 PC-3032 Torch Mount Base 1
132 PC-3033 Torch Mount Cap 1
133 PC-3034 Air Cylinder Mount 1
134 PC-3035 Torch Linear Slide Air Cylinder Stop 1
135 SL-1720 SMALL RAMS LOGO 2
136 A12040SN Torch Air Cylinder 1
137 CD1 Collision Detector 1
138 XT3-LS-5 Pneu Torch Linear Slide Base 1
139 93985A403 Stainless 3/8 dia x 1/2" Long Shoulder Screw 3
140 93985A404 Stainless 3/8 dia x 5/8" Long Shoulder Screw 3
141 5905K22 Steek Needle-Roller Bearing 3/8 I.D. x 9/16 O.D. 3
142 91263A544 Zinc-Flat Head Screw 10-32 x 1/2" Long 8
143 95263A286 Zinc SHCS M4 x 20mm Long 24
144 90128A246 Zinc SHCS 1/4-20 x 7/8" Long 47
145 90128A245 Zinc SHCS 1/4-20 x 3/4" Long 12
146 95263A388 Zinc SHCS M5 x 20mm Long 14
147 95263A402 Zinc SHCS M5 x 25mm Long 2
148 98381A541 Alloy Steel Dowel Pin 1/4" x 7/8" Long 36
149 90128A221 Zinc SHCS10-24 x 5/8" Long 12
150 95263A374 Zinc SHCS M5 x 16mm Long 12
151 90128A243 Zinc SHCS 1/4-20 x 5/8" Long 8
152 90126A029 Zinc 1/4 Flat Washer 26
153 91306A356 Zinc SBHCS 10-32 x 1/2" Long 8
154 91263A546 Zinc-Flat Head Screw 10-32 x 3/4" Long 2
155 5674K1 1" Dia Ball Transfer 3
156 LeeSpring-LC055E17M Gantry Motor Spring 2
157 LeeSpring-LC051E17M Gantry Head Motor Spring 1
158 421N15A+1752.6 Thompson Rail 2
159 411N15A0 Thompson Block 3
160 411N20A0 Thompson Block 4
161 Stepper Motor  3
162 240-10-100 Chain Flex 1
163 2100-34PZB Chain Flex Bracket 1
164 XT3C-85 Clamp 2
165 90128A250 Zinc SHCS 1/4-20 x 1-1/4" Long 4
166 90128A947 Zinc SHCS 10-32 x 1" Long 1
167 98381A477 Alloy Steel Dowel Pin 1/8" x 1-1/4" Long 2
168 95263A260 Zinc SHCS M4 x 12mm Long 4
169 91263A562 Zinc-Flat Head Screw 1/4-20 x 1" Long 2
170 90822A327 Self Drilling Screw #8 x 3/8 Long 4
171 91306A379 Zinc SBHCS 1/4-20 x 3/4" Long 14
172 92620A537 Zinc Hex Head Screw 1/4-20 x 1/2" Long 26

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF 
HORIZON SYSTEMS MACHINING. 
ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
HORIZON SYSTEMS MACHINING IS PROHIBITED.

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 2 OF 5SCALE: 1:2.5

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/16
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    .01
THREE PLACE DECIMAL  .005

A

DO NOT SCALE DRAWING

HORIZON SYSTEMS MACHINING

9121 58TH PLACE
KENOSHA, WI 53144

PH: 262-605-1122
FAX: 262-605-1198

PC-3000 A



A

B

107

104

108

142

103

102

128

100
144

148

158

143

106

109

144

126
144

105

158

144

148

101

135

142

162 162

121

152

119

120

115

114

113
110

149

161

139

122140

117
157

127

141

151

118

151
125

116

150

145

148

143

106

154172

171

170

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF 
HORIZON SYSTEMS MACHINING. 
ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
HORIZON SYSTEMS MACHINING IS PROHIBITED.

 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 3 OF 5SCALE: 1:48

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/16
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    .01
THREE PLACE DECIMAL  .005

A

DO NOT SCALE DRAWING

HORIZON SYSTEMS MACHINING

9121 58TH PLACE
KENOSHA, WI 53144

PH: 262-605-1122
FAX: 262-605-1198

 Gantry Assembly

KL

PC-3000 A



DETAIL A 
SCALE 1 : 3

136

167

166

167

138

164

151

168

132

130

144

131

165

133

134

129

153

155

169

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF 
HORIZON SYSTEMS MACHINING. 
ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
HORIZON SYSTEMS MACHINING IS PROHIBITED.

 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 4 OF 5SCALE: 1:48

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/16
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    .01
THREE PLACE DECIMAL  .005

A

DO NOT SCALE DRAWING

HORIZON SYSTEMS MACHINING

9121 58TH PLACE
KENOSHA, WI 53144

PH: 262-605-1122
FAX: 262-605-1198

 Gantry Assembly

KL

PC-3000 A



DETAIL B 
SCALE 1 : 3

160

111

144

146

124

145

123

142

147

117

156

139

122
140

161

141

127

148

149

152

172

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF 
HORIZON SYSTEMS MACHINING. 
ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
HORIZON SYSTEMS MACHINING IS PROHIBITED.

 

D

C

B

A

B

C

D

12345678

8 7 6 5 4 3 2 1

E

F

E

F

SHEET 5 OF 5SCALE: 1:48

REVDWG.  NO.

C
SIZE

TITLE:

NAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/16
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    .01
THREE PLACE DECIMAL  .005

A

DO NOT SCALE DRAWING

HORIZON SYSTEMS MACHINING

9121 58TH PLACE
KENOSHA, WI 53144

PH: 262-605-1122
FAX: 262-605-1198

 Gantry Assembly

KL

PC-3000 A


	Sheet1
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View10

	Sheet2
	Sheet3
	Drawing View11

	Sheet4
	Detail View A (1 : 3)

	Sheet5
	Detail View B (1 : 3)


